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Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is Authentic
Q.1 (@) Write a short note on The Role of chemical Engineer.
(b)  Write a short note on Plant design and its relation to sales.
(c) Discuss technical factors to be considered in plant design.
Q.2
(@) Give check-list for pilot plant.
(b) Discuss batch processing Vs continuous processing.
OR
(b)  Explain various types of engineering flow diagrams.
Q.3
(@) Give plan for selection of materials of construction for process
equipments.
(b) Discuss standard equipments vs. special equipments.
OR
Q.3 (@) Write a short note on selection of heat transfer equipments.
(b) Explain methods of plant layout.
Q.4 (a) List various factors to be considered for location of chemical plant.
Discuss any three of them.
(b)  Write a short note on capital investments.
OR
Q.4 (a) Explain Break-even chart.
(b)  The purchase cost of Filter press (100 sq. meters effective filtering area )
was Rs. 10000 in January 2001. Estimate the purchase cost of similar
Filter press having 300 sq. meters effective filtering area in January
2009.
Data:
(1) January 2001 = 317, January 2009 = 634
Q.5 (@) Describe analytical procedure for determining optimum condition with
two variables.
(b) A plant produces a pharmaceutical product at the rate of p kg. per day.
The variable cost per kg of the product of the product have been found to
be Rs. (47.73+0.1p"?). The total daily fixed charges are Rs. 1750 and all
other expanses are constant at Rs. 7325 per day. If the selling price of the
product per kg. is Rs. 173, determine the daily profit at a production
schedule giving minimum cost per kg. of the product.
OR
Q.5 (@) Write a short note on piping design problems.
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The original investment for an asset was Rs. 200000 and the asset was
assumed to have a service life of 12 years with Rs. 32000 salvage value
at the end of service life. After the asset has been in use for 5 years, the
remaining service life and final salvage value are re-estimated at 10 years
and Rs. 15000 respectively. Under these conditions what is the
depreciation cost during sixth year of the total life if the straight line
depreciation is used?
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